The Binomial Serles a4
lgf ’;‘Ca}fom of /E&ylor Series

——

¥ The Binowig| series of FOO=(14x) oy "o Taglr seis o’

m o m K
U+rx) = | + i(ﬁ) X Sl omos (onsTeunt
)<=y wore. he

S&f)\&_g Convevges a’oso{.\/ug.

where C‘):m , (m) - m(m=)

\ 2 Py

(M)_ m (m=)(m=2) oo (m- K1) [,
Pogers aud € Ly — ul r

E/f }:mcp He le ]Couv 1Lerm5 of the L.mmm,( sesies QW

Uploaded By: Jibreel Bornat

- 1N\ K 1y (-1 L) (=1 (-2
D(ﬂ_)() {(">X :‘ ?' \ ( )X ‘)(1,)( z,)
K 3+
K= " )(’L xg
=it % Yle”
) o2
(-3 =0 L)
| R 3
X
’l+>(+()(23 +&7')(§l "
xl X?
= 2 K e
Z |+ X +1/" * 5 =

ﬂfﬂ@)ﬂm%nq Nowe\ememgsz ?wkj/ﬂk 7[6
Eﬁf Use seqies o ezsyL/mrJe the ,Q//W’lg' tnpeq

Ma,am LJGpC leS ‘H‘I.Mr\ |O | '

EIOI dx y(wx)goox i J (,+ (é)t)a(k)ch

u)/‘ﬂ, an eviov OF

Vitx!
y 2 ‘5 g e
P X 4 3K . _[_:L _3)_‘,.]
'DJ (\—z+ ) >C&' Do targ) ) |
o
_.;XT - w;H:erYbrlEl<(——-)Noooaoo\ . |

©

STUDENTS-HUB.com


asaid
Pencil

asaid
Pencil

asaid
Pencil

asaid
Pencil


2] f e -1 Jy :J—‘-(“X
; X )% _
02 q
—[‘ A G X
- 7( Bl Rl TR T

2 2
2 (@Y o190y

© , . o
2 N (o
X X |’._)$.. - W ot —(0.1) + —
x X+ — - =5 * ‘} ~ 1 %
Y 18 1y A
Wit ewnov /E} Z R_g;_’z—)% ~ p.0000%*
S ge
ﬁfcjcamngfr- Remembes Hmf i X;
- %

— _ .. _L__
%_—‘—M\,.\ = *5
=y
. Mol Hiuad mx:f Jx
. |+x1

Secf\bn 10. ?

— | d - | | )
= |+x‘~:'J; Feur x =\ - xz+;-x+...+(—\) £ ol b

, 1,,{%& both sides fomm 0 bo x =

=) 3 Xl;-
b X—--;—'!"S—*
Ix! Can+t3
m+T
U}Lwc Kn(’()‘é[f d+ = __\_’(_\_;
nt

M‘ x x *\ -
-— x = — =
X 3 e

3 5

i
2

:,7.
doee 4

G

n

XZ"‘*, )'”, M+
-\ ]
n+t)

[+ 42

Ra (x)

Uploaded By: Jibreel Bornat

STUDENTS-HUB.com



F‘mc{ Jaj}c:rf sefjes f £ (x) - }ﬂx ot
ffx}: s =
i{x,‘: _HL 5 5 = Fﬂf'i': ]
2
f(r}‘:ux = f{,}__ |

£0) + £y (=) = LJ ) J?U t’r-djﬂr

=0 %

L

R S ) ——i” ' (x-y”

1 = s
- /

- ? n+!{ b.'

STUDEMNTFS-HUB.com

I

= Z - iy & o
(=) - L(x<) 4 3 (x=1) - 7 (X=1)




®

Uploaded By: Jibreel Bornat

]n&!c"crmfﬂa}e )Cﬂrms
é{ Use Sefies f—o g/aJm,L Hhe (I\WH.'{';

—

M bm _\_‘li ﬁjloy Series 0( I x o\l;»odi A=\ g

K1 X~ "
x = (x-1) - L (X=Y) T4 o~

:‘\‘m(\ - Ji(x-l)+ ~~~) -1

Xx—>1

B e €080 _ L L (& o1-x)

(>

L—> 0 X 7(-—)0 )‘1 . 3 P
—_x—__ j_ A e M
(V(/ﬁ- 5 u 2 .

= “W\ L

r—>0o ¥
A
e (LS ae) i
e s
S Ny 2> 2__----]
@ [ M = lim 'L&[E/“ (/4”3 +§ >
>0 é’z 3_@0 2'
3 2 )j

i ' 5
'p”j Comple,x number has hhe #«M a+ by, abcKR.
':I::—“L 6)3”/: Cos T4 istu 1 = =1\

e

STUDENTS-HUB.com



